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SECTION -1
gug-|
CHILD DEVELOPMENT AND PEDAGOGY
o1 e v frgrare
There are 30 questions in all in this section.
All questions are compulsory.
Warg g 0T E |
¥t wea arfard € |

Which _ﬂf ,thﬂ, f_‘ﬂl“wmg may not be expected from a teacher to keep in mind while
respecting individual difference ?

(A) ﬁ-bili_t}’ grouping (B) Adjusting the curriculum

(C) Leaving Children for self study (D) Adjusting the methods of teaching

safira Tafr=Tan &1 ¥ T I, s fiee & o491 3790 781 sl 91 "Gohdll 8 7
(A) daEEnEEd fmwe | (B) /- wgeat @ gARE w5 |
() weEiHEEAS BTN (D) few fafe 5 g |

When both chronological and mental age of Poonam is 9 years, her intelligence category
may be considered as

(A) Superior (B) Sub-average

(C) Average (D) Genius

R () IR 30 T AFfes I 9 ATt &, T weht gfg-ie 1 & w2
(A) I8/ (B) fwad=d

() 3ftaq (D) S

Which of the following is the characteristics of Autism ?
(B) Stereotypic behaviour

(A) Poor Socialization
(C) Poor Communication (D) All of the above

Py 5 @ 1 & et e & 7
(A) HHSI AT SHTEN (B) &fgag =N
(C) THHIAR FHT (D) , St ferfam ot
The process of an individual’s capacities quantitatively should be termed as
i o £1
(C) Ethbnm:mm = T N
(A) T (FTeTTHE) %}l kT (ﬁ“i }
C) dqed (zfinferfsE™) qitaar (AgteE
- p.T.0.
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5. For the (
> Proper dey . . ST- |
following - {“'hich{:j?pTem of a child at adolescent stage, par b
(A) Rendcring g <) » Parents and teachers can do the

Proper gender education

{B el .
) Proy ldl]]g suitable environment

(C)  Arrang; -
2ing suidance ; all: : ™
(D) Al of theEaE!:;n:-u ce and counselling services (1t required)

L
By TR R - e v P e e B - (B
(A) T fren =1 3fea 3 2

(B) 3fga aramaw wem wan

| (C)  wanyst wut grfeyl dar
| (D) wuh ke o, S I (IR S )

6.  Which nf'rthe following is not related to Action Research ?
(A) Action research helps in theory building.
| (B) It enables us to solve practical problem.
(C) Focus on problem that are of immediate CONCEm.
(D) Offers formation feedback such that aims and methodology are open to variation.

= 1 @ =1 forarers s A @l 7 2 7

(A) Torareass sty fagia Fofo § semmr s 2

(B) 9% SATIEI HHE1 & GHTYH Hid § T2gF 2 |

() w=iE o Ts s sn e ERagare |

(D) /& TEATHS Shalwan 3a1 2 44 3eea 7R worreft, # gen ofed= 2 |

7. A teacher is going to apply the principles of Thomdike’s theory in the classroom. What
he/she should not apply from the following ?
(A) Children should be made ready or motivated properly for learning a task.
(B) Children should be oriented to a discovery approach towards learning new things.
(C) Sufficient practice or drill work should be carried out. )
‘ (D) Teacher should try to make use of rewards as properly as possible.

| e forer S i e % frgia B e H o @1 R | Feeen i @ o s @
Y el & =9IEe ?
(A) aﬁﬂﬂﬂﬂﬁﬁmmmﬁqmﬁﬂﬁlﬁﬁﬁﬂﬂﬂﬂﬁﬁﬁﬁ?ﬂmm&m
(B) ﬁﬁ#ﬁﬁa&é@@aﬁﬁ:%mmﬁmmﬂﬁm
| (C) ﬂzf%ﬂmam%ﬁﬂ?ﬁﬁ?ﬂ?mwl'

(D) qﬁﬁﬂmaﬁwﬂmﬂﬁmﬁmﬁﬁmmﬁw|

is the inability to distinguish between one’s own perspective and other’s

perspective in early childhood. -
(A) Centricism (B) Ego centricism
(C) Animism (D) None of the above

AT % AN 30 YT gatl % AR # Heh B H Srdrar oh gwar @ |
(A) S5 (FR) (B) 43 $5E4 (T Aifrm) +
(C) wurTeHaTs (THHTH) (D) ¥ & ¥ TE
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12.
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me mastery or

"
“When someone fai
e fai .
Is repeatedly to overcome weaknesses and achieve so
llustrated the

simply places excessiv :
¢ emphasis on some parti i
82 v C C el " .
above statement as ‘inferiority complex’ ? PRSI O T2

(A) Carl Gust y

(C) Karen Hn?:ejyunb {g] Silgrnund Freud

e aﬂ:ﬁm mﬁmﬁmm%m@mmmtm
wel ? ”*&ﬁmﬁﬁmil“mmmﬁmﬁ'w-w'
v ﬁm?‘ (B) iz Wi

(C) 4Ei] (D), e T

The highly efficient form of learning approach, on which Bandura and Walters focused is
(A) Rm-:ard and Punishment (B) Observational [earning OF Imitation

(C) Self-actualization (D) None of the above

Freg=a Frqurarqel mﬁﬂﬂﬂzﬁ‘ﬁ?mm@nwﬁmﬁwﬁmiﬁ

(A) JG=hR aul & (B) ﬁﬂ&rmgﬁarﬁﬂﬂmaﬂﬂ"‘

() - T (D) st ferfaa wig TE |

As per Right to Education Act, which of the following is not a role of teacher ?

(A) Complete entire curriculum within the specified time.

(B) Teacher shall engage himself or herself in private tution.

(C) Maintain regularity and punctuality in attending school.

(D) Assess the learning ability of each child and accordingly suppleme
e e R 7

instructions.
¥ Fiota P d @ R F F1

nt additional

cture, which of the following would

mended pcrsn:}naiity stru
ey arose, without regard to

i .id's recom _
i Frr;l;?ltsalrurges immcdiatﬂiy and reflexively as th
rals of any kind ?

ife or mo
(D) Ego
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13.

14.

15.

16.

(6)
In which of the following technique, the child eam
desirable items, services or privileges ?
(A) Token economy (B) Shaping ;
(C) Extinction . (D) Covert Sensitization
fi= & @ frm TS % Qﬂiﬁﬁﬂﬁ%aﬁmm%’ @ are # 9t 3
T I, S 91 3 ew Fhard ?

(A) 2% FRHEL (Token economy) (B') & S (Shaping)
(©) féefie (Extinction) (D) e ST (Covert Sensitization)

51,

objects, which they can exchange for

Students encountered many conflicting situationg
example a student wants to admit his mistake in fr
he is afraid of being punished by the teacher. |t is
(A) Approach-Approach Conflicting Situation.

(B) Avoidance-Avoidance Conflicting Situatiop,
(C) Approach-Avoidance Conflicting Sityation.

(D) None of the above.

during their adjustment process. For
ont of the teacher but at the same time
best explained by

TR} W 36 A1 8 97 i g
LG RIE R \ﬁﬂtﬂ%lﬁﬁﬂﬁﬁﬁﬂ%mﬁmﬁsﬂmmmwg_

(A) veft - vgfi R sifafy ()| T — arof Rdvemmet wRfRefy
(©) wgfy - ftemmft ohfRrfs () it ferfga 18 7 |

A 5 year ﬂlc_l child has a general lack of responsiveness to others, serious deficiency in
communication and unusual repetitive behaviour. Such characteristics are the sign of

(A) Hearing impairment (B) Scholastic backwardness

(C) Infantile Autism (D) Learning disability
wﬁaaﬁ%aﬁi@ﬁ%nﬁnﬁmméﬁmﬁwiw HHHIA T8N ! qHER
TR | 76 E % v v Fit 57 el & 7

(A)  av Fifyay | (B) dftres g

(C) v Tt (D) , St e

A behaviour pattern involving self-starvation that often arises in adolescence and
especially prevalent among girls is known as

(A) Anorexia nervosa (B) Delirium tremens

(C) Autism (D) Down Syndrome _
ferutiuaeen i 3 mwmﬁt@mﬁﬁgﬁﬁ?ﬁ%ﬂmﬂﬁmmﬁﬁw
(A) R TE # (B) efifE 3

(C) waefiam (D) & R



(A) Optic Atrophy i e A
stiggmatis

(C) Hyperopia :D: Rcﬁlﬁmm

ﬁwﬁﬁaﬂwmm‘qc&m%mhw%?

(A) i Tgidt ) s

(C) i (D) felsam /
18. Insightful theory of leaming is giyen by i {

(A) Thorndike (B) Gardener

(C) Kohler (D) Hull and Tollman

a1 eI g gr fay w2

(A) -4 (B) TME B

(C) IER (D) & aun Aer 1

19. Which of the following body regulate the training policies and programmes F the field of

rehabilitation of persons with disabilities in India ?

(A) National Council of Teacher Education |

(B) National University of Educational Planning and Administration

(C) National Council of Education Research and Training

(D) Rehabilitation Council of India

B 3 3w a e v B qu S w1 R gt s

fraraga w@ R 7

(A) T AT fr ufee
{B)Z(ﬂﬂ'ﬂﬂﬁlﬁiﬂﬂlﬁ:mﬂﬁﬁm
(C)r T i FHUT T Wikl TS
(D) Wt gata aiwg




e ik ! reasoning and want to know th
anwer of all sorts of questions, Piaget called this “intuitive”, A:I per Piaget, which of 1112
folowing stage, he means ? T

(A Concrete operation (B)

: Pre-operation
(C Formal operation

) ®) L
20. “ a particular stage children begin to use Primitive
(D) None of the above
s Ty & W = Aifers T # TS RASLR (S

_ H 2 & qo wht v v Wam

ST & R A R sfi v PRI 3 096, P 2 4 2 57 e & 5
(A} HTHT EToT (B) Td-turery |
(C) 3tv=Ties d=re ¢ (D) Eqﬂaaaﬁg:nq-gf

21. Mot of the children speak first meaningful word at the age of
(A) 3 months (B) 6 months
(C) 35-40 months (D) 10-13 mong
SITETR = YN W oS 39 35 wyery 4 5
(A) 37ER# AB) 6 w3
(C) 35-40 Wi (D) 10-13 w3

22.  Who s the father of “Theory of Multiple Intelligence”
(A) Vygotsky (B) Brunner
(C) Alfred Binet (D) Gardener

.' TR-d< g Sow e ¢
g (A) TEER (B) wm

(C) %s fe (D) /mﬂqt

23. Who his given more stress on the Philosophy of Social Constructivism ?
(A) Vygotsky (B) Piaget
(C) Dewey (D) Kohlberg
ﬁqﬂ#ﬁw%mhaiﬁﬂmﬁahmmﬁmwﬁm ?
(A) TFgieeh B) T
(C) (D) Hrerat

24. Whichof the following is not an example of assistive technology for visual impairment ?

(A)  Large print book (B) Magnifying computer book
(C) Speech synthesizer (D) Supplement to text book

ﬁqﬁ#ﬂﬂﬂgﬁﬂﬁaﬁmﬁiﬁ%mmﬁnﬁaﬁaﬁmmﬁﬁ?
(A) = iz i framd (B)~ fererreren egeligpa fard

(C) o Hehws (D) TIGHGETH Bl FTLH
25.  Hearing loss is measured in terms of

(A) Hertz (B) Decibels

(C) Watt (D) Pound

v 3 el ot e o) e

(A) wad (B) ¥ d

(C) aied (D) die#
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26. Which of the following is an example of fine motor s_kills ?
(A) Climbing (B) Hoppiné
(C) Running (D) Writing
ﬁnﬁwﬁaﬂﬁmqmmmmwt ?
(A) =@ (8) &
(C),, AT (D) feE
27. Meaning of Schema is

28.

29,

30.

(A) Chunking Mechanism
(B) Learning Techniques o
(C) Organized packets of information stored in long term mem
(D) Defence Mechanism of body

own to break intelligence down into variois basic
t and then use 1t to reaon and

essing theories are kn _
rocess 1

Information proc
skills that people employ to take in information, p
solve problems. Who is best known for propounding such theory 7
(A) Jerome Bruner (B) Jean Piaget
(C) 1P Guilford (D) Robert Sternberg
wwfm{iﬂgﬁam’rﬁﬁ: mmﬁﬁﬁmmﬁ%ﬁrﬂ.mﬁtﬂﬁi,hﬁm
1 ST F, mmmaﬁmmm%mwmg | 39 TE = g
=7 yRaTe 0 3 8 Rl AT TR ?

(A) SOE R (B) 9 REw

©) A feeE (D) Qe T

Select the “educable’ group based on different level of 1Q.

(A) 70to90 (B) 30to 50

(C) 50to70 (D) Below 50

Py e e 1Q T freofia = A |

(A) 70890 (B) 30¥ 50

(C) 50870 (P) s0d=

The unit of heredity is

(A) Chromosome (B) Fertilized egg

e (D) Zygote
gt &t 318 2
(A) (B) a3

(C) (D) T& Y,
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3.

33,

35.

36.

37.

39,
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(C) T FAR H AR

o8 1T’ e 1 e 3l W

(A) FO i STER A B (B) HISTATGEH H1 HET
(©) Ir-Forer g {D};ﬁ“ﬁﬂﬁﬂlﬁr@ﬁmiﬁ—%ﬁmm
R T T S I 2 A B S §A 8 '

(A) TETH (B) @l

(C) fasmum \[D)’1 Temanfasur

seanye farfty s Iue T R -

(A) FEfEymE (B) 3w

(C) werft (D) I

s e s w9 4 fra faf 3 9 f ot 2 7

(A) wroT-gE fafy (B) A faftr

(C) ﬁ’ﬂqﬁﬁl; (D) Wﬁ'ﬁ
.y, e 3 e d 7 w1 9 mm R 2 2

[C} M-m.é,qqlm {D) q‘fﬂ'ﬂﬂw
Frestwores fafty o i 2 2

s i B) 2=

(C) wsed a1y, () @ T
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47.

48.

49,

50.

3| 1 HHH I8 —

40.
(A) T (B) A
(C) THHHA (D)e enin
41. aﬁaﬁrﬁﬁaqﬁmﬂmﬁﬁammﬂmam? 4o
(A) wrafis R 4 (B) Eﬁﬂﬂ'ﬂﬁ:“ﬂi it
(C) wreafie & (D) 3 AT
42. Wit qrft & - e
(A) foagag (B) ) A
(©) Fﬁﬁ?ﬁ (D), et e -FG
43, qARAEER -
(A) sewmt {B}fw
(C) wrmm (D) wref
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(a) forers fafifa oo (B) WT@
(C) Irmeafs aiET (D) FANFA
45. Eﬁ.m.i.ﬁmmmﬁuiﬁmﬁwﬁt:
(A) T &t STaHA (By SR B SR
(C) T HAHA (D) mﬁﬁm. . i i
46. ﬁwmﬁmmﬁmmww%,ﬁ@qmﬁ difga
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(A) SIS S (B) farwerwomeTH W
(c) frEm s (D) SATEATHS TH
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(A) e 30T 3 S e R | (B) e i gt frenfia B 2 |
©) vERggmHFgagael (D) weTfE B a1 P I F
e 3D qedia ) e T 2 -
(A) g (B) FEgFEAl
(C)  FreAfEa (D) SATIRAT
= A F R 2
(A) e g o SITom A | (B) FHEZA & |

(C) YHAEEAl &M |

(D) ST S S B |
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%ﬂﬁr&ﬁm%ﬁmmmmsﬁssﬁﬂamm: 81y
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51, ‘foenr W # FH W ERIOFREER 7
(A) S EN (B) Tewmiafy
(C) FwEMY (D) Ty

52, “R-VTET W A R 7
(C) T8 (D) wgHile

53, ‘Sep¥ o1 we faeim @aiy |

54, ‘e g ¥ o g W A R
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(A) TE B) frs
(C) = o (D) oA -
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57. T @ 9% vee waee Rrdet a9 avegan fom R off oftfeufy 5 @ s
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60. w@mﬂgﬁtﬁamﬂi'
(A) =R Rl H W
(€) =T o @ el

(B) & el ST e 8 |
(D) TR T e a e

) ——



(14) 5T
SECTION -11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this S;ﬁliﬂlh
. All questions are compulsory.

31. Which of the fﬂ"ﬂ“"ing sentences has the correct structure of quesliﬂﬂ ?
(A) Do you have got a car ? ""(B) Have you got a car ?
(C) Did you have got a car ? (D) Did you got a car 7

32. The passive voice form of the sentence — “Thieves broke into my house’ will be

(A) My house was broken into by thieves.

(B) Thieves were broken into my house.

(C) My house had been broken into by thieves.

(D) My house was broken by thieves.

33. Which is the correct option ?
(A) Raghu is the tallest of any other boys in my class.
(B) Raghu is tallest boy out of any boy in my class.
(C) Raghu is the tallest boy in my class.
(D) Raghu is the more tall boy in my class.

34. The passive voice form of the sentence * “Who wrote this poem ?” will be
(A) By whom had this poem been written ?
(B) By whom has this poem been written ?
(C) By whom was this poem written 7
(D) By whom was this poem being written ?

35. Which of the following sentences has the correct structure of question ?
(A) Why hadn’t she attend the meeting ?
(B) Why didn’t she attend the meeting ?
(C) Why didn’t she attended the meeting ?
(D) Why haven't she attended the meeting ?

| 36. *The material should be according to the child’s mental age, mental abilit \
| Which principle of teaching is involved in this statement ? y, grade and level’.

i (A) Concreteness B) A
> ccuracy and co
(C) Selection and Gradation ED:; Prﬂpﬂrtignan e
37. means equal treatmen : ;
. t to vari s ;
TA) Habit formation oV nus(::ﬁo}mpol iﬁzrrm;itﬂf linguistic learning.

C) Multiple li
) pisime (D) Proportion

38. Which principl : .

(A) The ;ﬁﬁ;ﬁgﬁ?;ﬁng English creates a zeal to lean something new in language ?

(C) The principle of Per order (B) The principle of habit formatio
. - motivation (D) The principle of selection "

f € me cmer; i
method is : ged as a reaction of the vari d ' i

] @ Biliga Methog ous demerits of The Grammar-translation
(C) Direct Method (B)  Play and Learn Method
(D) The Sentence Method
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40.

41.

42.

43.

43.

46.

47.

48.

49,

F

a sh as second language ’

Which method is also know f teaching Engli
(A) S'I"f'stituh'nn Method e MBe;hm:'iSammar-translatinn Method
(C) Bilingual Method ED} Direct Method
Choose the productive skil) fro :

: 2 mn
(A) Lis tening the fuih:;‘g;ng i
(C) Speaking (D) Reading aloud
What do people read for pleasure ?
(C) Report (D) Dictionaries
Which tt?:chrlique Ofrcading is usad to get at the gist of the text 7
{AJ' Sklmmlng (B) lel:‘ﬂ'l'}"
(C) Scanning (D) Aloud -

Which teaching aid can be used to teach listening comprehension ?

(A)  Text book (B) Word cards

(C) Tape recorder (D) Picture cards

What can be used as props for dialogues in order to teach new lexical or structural items ?
(A) Text book (B) Reference book

(C) Realia (D) Dictionary

‘The testee has to replace the underlined word with correct option.” Which skill is tested in

this statement ?
(A) Reading
(C) Writing

(B) Listening
(D) Hearing

measures a student’s achievement in relation to a specific task which he will later

be required to perform.
(A) Productive test
(C) Integrative test

(B) Proficiency test
(D) Objective test

test measures the language skill naturally.
(A) MCQ type (B) Subjective
. (D) Reading

(C) Objective

What is the cause of failure in learning a second language ?
(A) Home assignment . (B) Over simplification of target language
(C) . Diagnostic test | (D) Reading strategy

Grammatical Errors refer to
(B) Spelling errors

(A) Inappropriate words !
(C) Lexical errors (D) Errors in syntax
P.T.O.
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SSage carefy]| .
age-1(Q. N “J;Fff;;;mr the questions that fo]lgy, -

€ F"Dllutg ou . . .
of waste - UUT environment by throwing different |
This pmbﬁeg;:‘%hﬂm Waste reuse and recycling are the pmfer;f;dﬂggiﬁ:g Fg:erl;?:}’j 1"~“lr:thu.:gE
10 dump the e TE serious in cities because sometimes it is difficult to find a p%:]ng Waste,

ours and sti“kame' Garbage bins overflow in big cities. The waste begins to ro, aftep o° I
health and INks. It becomes a breeding place for harmful bacteria which woul P iy ey,
diseases like malaria, typhoid. cholera and dengue, etc. Spread i,

R-'Ead ﬂ'| € pa

Prose Pags St

S1. '
Which of the following words is a synonym for *dump’ 7

ES; f]iqusc of (B) cater
2. T ourish (D) deck
’ Aﬂ antonym of ‘reduction’ is .
C Promotion (B). diminution
- ( }_ induction (D) decomposition
- Which of the following words is correctly spelt ?
Fartile (B) Furtile
(C)  Fertile (D) Fortile
54. The verb ‘pollute’ can give us the noun
(A) pollutation (B) pollution
(C) pollutable (D) polluted

S5.  Find the correct one word for the phrase given below :
‘Converting waste into reusable material’
(A) garbage (B) recycling
{C) managing waste (D) breeding
Read the passage and answer the questions that follow :

Prose Passage — 11. (Q. Nos. 56 to 60). ;
I have access to safe water and to avoid water crisis in the near future it is necessary

that correct policies and schemes are made. Water conservation and its proper management

can also be considered as one of the effective steps to avoid water crisis. India has a long
tradition of water harvesting. Harvesting rain water is one of the most effective ways to
tackle the water crisis. The basic principle is, to collect the rain water where it falls, use it
and let it seep into the ground. In this Rashtrapati Bhawan is leading the way. It is one of
the few buildings in Delhi that conserves rain water. Aizawl in Mizoram meets most of its

water needs through roof top harvesting,
Which of the following options is an example of ‘demonstrative pronoun’ ?

(A) This (B) 1
(C) Iis (D) Then

57. ‘I have access to safe water.’
The underlined verb — ‘have’ is an example of ;
(A) An auxiliary verb (B) Verb in simple present

56.

(C) modal auxiliary verb (D) verb in present perfect
58. Which of the following has the three degrees of the adjective in their correct form ?
| (A) Near, more near, nearest (B) correct, more correct, correctest
(C) few, fewer, the most few (D) effective, more effective, most effective
59. In the phrase “water crisis in the near future’, the determiner used is
(A) water (B) crisis
(C) the (D) near
60. Conjun{:tiﬂns in the passage are
; (A) and, that (B) as,of
" (C) where, let (D) most, through

R e S
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32.

33.

34.

35.

36.

" (C) weRreRfftE

an
gvs - 11
war - 1
A
mﬁmm:aﬁl
) - ﬁm:wﬁm:i
Wt t o 2 e e o W
(A) ﬁwﬁiﬁi W‘?""WW _
(© Trgh i - ﬁtgﬁaﬂtﬂqfﬂ‘l
(D) : ¥4 |
Y@ty vay .
e e s oy
(A) =8 EB .
© ftn)} g:&
ST S TR |
(A) TG (B) - R
(C) el (D) N
qTferhT A1e TEEfd |

(A) STToTeRAT AT T |
(C) Tl ATe: 9eA |

i SeeEa

g Ao BT |

(A) §: & H: | (B) H: HEW: HI: |

(C) §: o HTr: | (D) ¥: &M H: |

mwmmm%ﬁmﬂﬁ

(A) arfreRftET (B) WRRRRA
(D) VAR
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37.  WdtaEEsa: HEIE 1 7gfr: Prercrgasgen wafd 7

(A) WvEHEIgfa: (B) " magzfy.
(C) dYrage=ygh: (D) Frafurgfy, |
38 *ﬁaﬁm‘ﬁmq@:ﬁmﬁ?
(A) FeEfyeza. (B) SRz
(C) vTEIgEHTE: mivissy (D) mrmma
39. &: ﬁmﬁaa:mﬁma@ﬁmﬁumﬁr?
(A) g frgr: (B) w2 fuzrm
(C) awwhriw frgra: (D) BfFaamn. frgra
40. =: fagr: *ﬁmmﬂaﬁm:“ﬁmmﬁ?
(A) IamEe fagra: (B) w@amifyeramr: fugr<a
(C) wgqel frgr (D) T s = Rigra
41, HiAEY FRIY GUIEIE NTIT: Hiohfreh T e 2
(A) fifady (B) ey
(C) fafady (D) wafady
42w el rfbretre e o e e i 7
(A) Havrlee - (B) weTHive
(C) TSuTehISTeT (D) TR
43. auiERvIRE wer Rt v yafy ¢
(A) EE=S (B) auif=aeg
(C) wmifgae _ (D) v
44, mw#ﬁﬁﬂ%m?
(A) TR (B) GXIHSHYEHIIATY
(C) FANTHUTIY (D) ey
45. mmmm?
(A) T et
(C) wTSTYf3meRT ®) :

(D) woreRy
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70.

There are 3
Identify the word i Al Quest;
(A) C{mcept In """hl(:h the end 22223 S ry. ‘
(C) Sect % from the other words
Pick out the corre t ; 5 I
(A) - /znrik - "eSCription op g,
_(C} /dginrik (B) genrik
Taking into account the princi (D) /dza’nerik

(A) Teaching can pe difﬁcﬁifles Of language teaching

(B) Desired goa of teach;
A each 3
(C)  Only lingyistic habitsuc]:EnEI;]eg don oanguage can be Sulaved

(D) Only leaming of English a developed

(C) Exploit sound sycholingujst; . T

(D) None of the abgv}:; holinguistic and educational principles

In Communicative Approach to teaching the teacher must know why it is
(A) Better to tolerate errors in students’ attempt to express their selves
(B) Not to allow students’ to express their selves

(C) Not to tolerate errors in students’ attempt to express their selves
(D) Better to note down the errors

One of the language disorders is found when;

(A) learner is missing the class

(B) learner is speaking in class

(C) learner speaks in short and fragmented phrases
(D) learner speaks the full sentences

Language disorder means when a child has
(A) guD%fﬁcuity in understanding the meaning

ifficulty in expressing his/her thought
((g ; 'Il?r!m:g}]e groducing some sounds accurately
(D) Eitheror both (A) & (B)

At’ticu[atim;;:;mr 0?‘[‘:;:;% ﬂue to

Eg}] g?unrgng -‘.]F;'e:fﬁi:td etr:]lézping sounds |
}gg i’:ﬂg ;i:,?ef?_n-:snnance to stress & intonation
Remedial teaching involVves

ing skill
ent of learning $
(A) Imprm&n}l on or (B)

(B) Rectifying a particular problem area
(D) Neither (A) nor (B)

(C) Either . i
Evaluation stresses on. _—

icative approach 0 B) Fluency & Flexibility
Communicative ap ncy & Vocabulary ED] Neiet (A io¢ (B) —_

A) Content releva
Ec; Both (A) & (B)



(42)
F

e of evaluation outlined by CBSC is

o R,:C En(tif:::g:*nehensivr & Continuous Euﬁ]uatinn

{B; Continuous & Comprehensive Evaluation

(C] Continuous & Communicative Evaluation

EDJ Communicative & Continuous Evaluation

Remedial teaching should be carried oy
e (A) Textandtest

(B) Text and learning

(C) Malady on language test and it causes
(D) Merits of teacher

edial program is designed keeping in mind
7. Eﬂ“ Each student’s strength
(B) Each student’s weakness

(C) Each student’s strength and weakness
(D) None of the above

74, Remedial teachingisa
' ' (A) Preparation of teaching

t after identification of

(B)  Pre-teaching program

(D) Random process

75. The basic requirement of a language proficiencies test is that it must be
(A) Reliable

(B)- Complex
(C) Ambiguous (D)  Simple

(C) Systematic process

Passage : ‘ . .
In spite of rigorous precautions against accidents, man
factories and elsewhere. In addition, some peo
either blind or deaf or in some way de

formed from birt
planned action was taken to fit handica

pped people

ST-2

Y people are injured €Very year in
ple are born with physical disabilities. They are

. Upto quite recent times, little

for employment. A number of charitable
organizations tried to help them in cases of hardship;

76. Which one of the following is the most a

(A) Rehabilitation of the physicall
(B) Physical disabilities..

(C) Accidents

(D) Planned action

77.  In the above paragraph, ‘In addition’ indicates
(A) Emphasis

ppropriate title for the passage ?
y challenged

(B) Addition
{(.?] Sequence (D) Alternative
78.  Either those children or my own son picked all the flowers.
(A) have (B) has
(€) is (D) are
79. In the above passag

! convey
n the world suffer from hysical disabilities.
Eg; Eﬁ?ﬁs Are not taken against accidpen};s.
D) oh P v e Physically challenged are fit for employment.
physically challengeq People have no scope
80. Noisy children are a headache, T i
two aspirins will make noisy childs =
bove lines contain T80 away.
(A)  The fallacy of equivocs::
(B) The fallacy of fajse atalon,
(C) The fallacy of hasty generalizagiq,
e fallacy of composition - )

‘

but few seriously held the idea that these
people might still have abilities in other directions.

0 aspirins will make a headache go away. Therefore,
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Extract : Yourl (43)
ur love :
impression fi]] E*nd Pity dotp, the
Which vy
my brow: SAr scandy) Stamp®
For what Care | be TR
orill, Who calls me yeqy o
S0 you o’ey. |
The rhyme scheme o sreen My bad, m
(A) abab Fthe extract 5 * Y 800d allow ?
(C) abba (B) aabb
(D) abca
‘One proven way tq
heel mean ? . , beat an enemy is find his Achilles heel’ i
) Atnuet eel’. What does finding Achilles
(C) Strong point (B) Weak spot '

(D)  Secret strategy
The Wolf with its belly stitched f,

Nibelung wolves barbed 1; Il of big pebbles:
Against a red sky, over b}l’ltﬂsliack pine forest

Which figure of s i ol

(A) Mﬂ%zpher peech is used in the aboE.fBe}extga_tct '!?

C) Alliterati imile
(©) iteration (D) Assonance

Which one of the following is sometimes called ‘vocalic thyme’ ?
(A) Assonance - -

R - (B) Personification

(C) Alliteration (D) Rhyme

Which ﬁgure of speech is common in tongue-twisters, jingles and non-sense verse ?
(A) Alliteration (B) Simile

)

(C) Rh}me (D) Metaphor

It’s a beautiful day. have brought this umbrella.

(A) mustn’t (B) needn’t

(C) shouldn’t (D) couldn’t

You should your phone call with an email or a letter.

(A) follow on (B) follow up

(C) take on (D) show on
“What time shall we go shopping?” “Let’s seehow theweatherlooksand __ " Insert
the correct idiom. (B) play it by ear
(A) raining cats and dogs (D) callitaday
(C) turn ablind eye
Sonnets usually are in (B) iambic pentameters
(A) free verse (D) verso tronco

(C) jambic trimeter

: lay is B) playright
A person who writes 3P ( :
(A) playwright (D) playwrite

(C) playwriter P.T.O.
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SECTION.1y /gvg _ v

n this Section, there are A

. Sec i
(v(b) Social Studies. Both g, suh-sec:il:;s % _IV[I} Mathematics and Science and
consist of

Thg Cﬂﬂdidﬂtﬂ' haS to Chﬂ{)sg eithﬂl‘
studies as selected in the Online Ap

60 Multiple choice Questions each.

l?”(ﬂ.] Mathematics and Science OR IV(b) Social
Plication Form and answer ] the 60 questions.

iemeft W(a]“ﬂﬁmﬁtﬁmlwb)mmm,ﬁmmmm-ﬁﬁ
fi &, ¥ ¥ 55l 0 I7ve 3 e & v et 60 w2

SECTION-IV (a) /@US - 1V (a)
MATHEMATICS AND SCIENCE /Tor oot fasm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.
wEve i et 60 WA § | o sl 3 forwa 1 s e 2 9 anft e oo e £

91. If ratio of the volumes of two cubes is 27 : 64, then what will be the ratio of their surface

areas ?
(A) 3:4 (B) 4:3
(C) 9:16 (D) 3\3:8 =
ﬁﬁﬂﬂ%mﬁwmﬁmﬂ:ﬂi,ﬁ!ﬁ‘{ﬂ*%ﬂ%ﬁaﬂaﬁmm )
(B) 4:3
A) 3:4
EC; 9:16 (D) 3\3:8 s
indri le is 264 m? and its volume is 1848 m’. What is
92. Area of curved surface of a cyllrﬁﬂtﬂl pole 15 m
the height of the pole ? (us€ =7
(A) 4m {[B):; sﬁTn :
(C) 5m @#ﬁ@ﬂﬁégﬂaﬁ:ﬂagammmsm%l@ﬁ |
U AeHTHR
sz?(nﬁ%ﬂfmﬂm‘]
. (B) 3 "I
S o ® o

s e
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(66) |
owing respective marks out of 100 marks in subject

20 students of a class obtained foll
4. 8, 66, 52, 28,16 and 30

Mathematics : 70, 16, 58, 6, 82, 44, 54, 32,6

54, 46, 24, 36, 84, .
Grouped frequency distribution table of above will be

- _ e
B)| S Frequency
(A) :o Class | Frequency No. Class L msad
1 | 0-20 4 | 1 | 020 2
2 | 20-40 e d 7 | 20-40
3 | 40-60 5. | 3 | 40-60 :
4 | 60-80 3 4 | 60-80
5 | 80-100 2 5 | 80-100 2
a 1‘? Class | Frequency @) I:? o Class | Frequency
0. ]
1| 070 4 1 | 0-20 3
2 | 20-40 5 2 | 20-40 5
4 | 60-80 2 4 60-80 4
5 | 80-100 3 | 5 | 80-1 00 2

o T % 20 B A v e | 100 371 # & waw: Fr i v 6
54, 46, 24, 36, 84, 70, 16, 58, 6, 82, 44, 54, 32, 64, 8, 66, 52, 28, 169 30

I it witepa arcawar aweft gt

A) |wE.| = | wawar | (B) |HE | W | wHEwaA
1 0-20 4 1 0-20 4
2 | 20-40 5 2 | 20-40 6
3 | 40-60 6 3 | 40-60 5
4 | 60-80 3 4 | 60-80 3
5 | 80-100 2 5 | 80-100 2
©) |w&.| @ | wkwwar | (D) |%E. | =0 | wrEwE
1 | 020 4 1 0-20 3
2 | 20-40 5 2 | 20-40 5
3 | 40-60. 6 | 3 | 40-60 6
4 | 60-80 2
5 | 80-100 3 W :
5 | 80-100 2




.___
e e

1

95. -

9%6.

97.

F

Note ¢ Details of mar

: 9 k ;
subjects of examinatjop Dsleitamed by §
obtained by Seema i ass 6 are ¢
quﬂstiﬂns (94 & 95) -

hzﬂfli‘lﬂ‘in Hindi, English, Mathematics and Science
these subjects i':n in diagram given below. Sum of total marks
480. Read carefully and answer following

gﬁﬁmmmwaﬁﬁmmwﬂm

mmﬁﬁwﬁnqmmqﬁgs]%

How many marks obtained by Seema in Mathematics ?

(A)° 93 (B) 116
A d e sy
(A) 93 (B) 116 ) .10 2 (D) 124
How many marks obtained by Seema more in Hindi in cambarisnn of English ?
(A) 36 . (B) 48 (C) 21 (D) 30
i 3 et 1 37sht oY qor | fohaa 3ieh i s ol 2

(A) 36 (B) 48 {C) 21 (D) 30

Out of following which is not the exact characteristics of objectives of Mathematics

teaching in classroom.

(A) should be related to life (B) should be in behavioural terms
(D) should be specific

(C) should be testable
ﬁﬂiﬁmﬁﬁmmﬁnﬁmﬁw%aﬁﬁiﬁmﬁﬂwqﬁ%:
(A) e @ gafoa g =fee | (B) ST We) 8 & e |
(C) whegor g g4 =e | ) fafire &R =fe |

me 42 marks out 0
hows which characte

f 80 awarded by different examiners in a test of

If a student get sa ristics of evaluation out of following :

Mathematics, this § el
(A) Objectivity :g; :ﬂiﬁmlity

;%} RE“ab”it;H“ wmgqﬁm%qﬁwﬁ 80 & & 42 37 GHM &Y @ I FI
Yo 7z g @ P A @ FR IHBE'}' mwg )

(A) wegfasal (

(©) v (D)

. n-"'/
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F (68) s’l‘q '

98. Outof following which is limitation of objective type questions ?
(A) Guessing
(B) Difficulty in construction
(C) Cannot measure complex process
(D) All of the above
Freffiaa § & s sor %yl B A
(A) FHR T (B) fmior 3 wfemrd

(C) whewr sl A amwan (D) Iwdw @it
99.  Out of following which of the teaching method in Mathematics is difficult to use in formg|

classroom situation ? —
(A) Inductive (B) Deductive (C) Project nalytic
ﬁﬁ%ﬁﬁ#ﬁﬁrmﬁﬁﬁaﬂqﬁmmﬁmﬂm%i?

(A) IS (B) Frmamw®s () WS (D) favervomas

100. Out of the following, Language of Mathematics is
(A) Symbaolic (B) National (C) Complex (D) Vedic

ﬁﬁfﬁﬁaﬁﬁﬂﬁaﬁwt;
(A) Hhareas (B) T¥H (C) wfem (D) afew

101. Out of the following, Mathematics in a strict sense is a
(A) Concrete Science (B) Abstract Science
(C) Physical Science (D) Relative Science

ﬁﬂﬁ‘ﬁﬂﬁmﬁﬂﬁm%:
(A) i fam (B) 3 fagmr
(©) ifachra fagm (D) =mifes fasm

102. Out of the following which is not the characteristic of reasoning in Mathematics ?
(A) Accuracy (B) Certainty of result
(C) Originality (D) Subjectivity

mﬁaﬁwﬁmﬁmﬁmﬁﬁmt:
(A) " Mg (B) wftorm <t fifegemy
(C) wiMferaran (D) Tarwg-fymar

103. Out of the following, what is most important characteristic of oral work in Mathematics

for school students
(A) Itdevelops mental process (B) It saves time
(C) Not require paper pencil (D) Able to solve questions orally

ﬁm%&aﬁﬁﬁmm%ﬂmﬁfﬁ%%qwﬁmﬁ%ﬁﬁmww
g:

(A) A TR s w5 e w2 |

(B) ¥WE WS} |

(C) AT~ v T R |
(D) i &9 8 5 B v Y A 2 |
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104
al
105.
106.
107.
o
108.
dl

N RTINS R BT i T

Out of the follgw: ) (69) F
particularly mogt u:lg Whic
[1‘!\] LCD“PI‘(}JEE"

(C) Interactive

h gag
eful for teafhi &€t of Information and communication technology is
or Mg graphs and geometry 7

White Boarg (B) Slide Projector

ﬁqﬁqﬁﬁ ﬁ a’ g1 F@Tﬂ' . " {D} TEIEViSi(}[]
waifte ITnf 5 @wmmﬁmﬁtmmmwmﬁ
(A) THLA. Doy

: (B) _ womee vrerwer
(€) 3= mm,am o Lt
The synthetical method sh Faag ol
(A) . Induction should be us;d to teach geometry in school after following
©) Analysis ED:; gﬁf;‘“‘*ﬁ“
foreea § sfify wer 3 fire 4 Vetion

it wvIe faftr ®1 wai frifn % weEr R \

- - (B) wweryur
@ (D) Frmm
Value of\{m is bR
(A) 3 B) 3 |
(© B (D) 0
'\/—_am HIHHA 2
(A) 3 (B) 3
©) -3 (D) 0
If (497 — 4% + 4%) = k.495, then what is the value of k 7 _ SE
(B) 64 !
A) 16
EC; 13 ae . (©) A s |
gf (497 — 4% +4%) — k4B R, M TAAE
64
o ¥
(C) 13 . d
pl
Wl zjb” B) (a+2b)(@-3) ;
:g; ::::ﬂ i ::; {(: ~3) (D) (5a—-2b)(a+ 3 :
g £l
542 + 152 6b—2ab= S )
+3) (B)
b ~ ! (D) (5a-20)(@+3) |
a_-
"'I

E p——



113.

e —
F
(70) ST-2
109. What is the value of ——— + |~2= 7
if B 3
1000
(A) 9 (B) 3
(<) 27 (D) 5
l__ 2192 % 2
—*—3 2 3 AR
1000
(A) 9 (B) 3
AC) 27 (D) 5
110. If 2x - 3y =79, x + 6y = 47, then what will be the value of (x — y) ?
(A) 40 (B) 32
(C) 38 (D) 42
e 2x — 3y =79, x + 6y = 47 &Y, A (x — y) 1 I FTEM ?
(A) 40 (B) 32
(C) 38 (D) 42
! 111. {31+5}2—ﬁﬂxi5£'qualm
‘i' (A) (3x+10)? (B) (3x-5)?
; (C) (Bx+12) (D) (3x-12)?
| (3x + 5)2 — 60x Py O & fpad su=n 2 7
(A) (3x+ 10)? (B) (3x-5)
| (C) (3x+120 (D) (3x—12)?
:-! 112. What percentage of 80 is 80 ?
| (A) 64% (B) 80%
| (C) 90% (D) 100%
| 80 &1 fapen witwra 80 2 2
| (A) 64% (B) 80%
(C) 90% (D) 100%

A T.V. seller sold two T.V. at the rate of ¥ 9,600. Out of them, he obtained 20% profit on
one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtained in

whole transaction ?

(A) 10% profit (B) 4% profit

(C) 4%loss (D) No profit no loss
ﬁéﬁﬁmﬁ?ﬁﬁt%mﬁaﬁaéﬁﬂﬁmﬁmﬁﬂmiﬁﬁl’ammzwmma
Eﬁiﬁﬁﬁﬁqﬂm%vﬁgﬁrwﬂiﬁﬁmﬁmmmmﬁgﬁ?

(A) 10% (B) 4% ™

(C) 4%®H (D) WA TN
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116.

117,

n & field 6 workers ¢, (71)
mpl F
n how man Plete ,
[T} s be ree 1 16 days, If this task ;
( i €quireq 9 . is task is to be completed in 4 days,
f;g ahz # v e g
& (D
6 7Y |6 fi’?ifj 28
G TR 2 WHa g | ofe
(A) 20 7 wiEd 4 o & qu e @, A fomer
€) 24 }gJ 18
: : ) 28
If simple interest is ¥ :
I 640 in 5 years g the rate of 8%, then what will be s
(A) 21,280 . at wi the principal
(C)ﬁ;fi’:,zoo Eg; ¥ 1,600
R feelt T T 8% Frw @ ¥ 2,400 '
5 = & grymo
(A) 21,280 = T T 640 B, T erer 1 € 2
(©) 3,200 (B) ¥ 1,600
(D) %2400

ere is a i -
Thar zl}mtgfsﬂnﬁf lélec:ease in number of students in a University by 10% every year. If in
mber was 1500, then in year 2018 on completion of target how many

students will be there in University ?
(A) 1800 (B) 1815

(€) 1700 - (D) 1915
qmﬁﬁﬁmﬁﬂﬁmﬁaﬁﬁmﬁﬁﬁmﬁgﬁﬂw%q&ﬂmmwtmﬁa&

EﬂlﬁﬁﬂsﬁwISGﬂtﬁEﬁaﬂfzﬂlBﬁﬁﬂqﬁfﬁimﬁﬁﬁmﬁﬂﬁﬁﬁﬁﬁmﬁﬁ?
(A) 1800 (B) 1815 |
() 1700 (D) 1915

Which condition applies of congruence of triangles in the diagram given below ?
B

(A) Side-Side-Side rule]
[+

ide- Side ru .
QS Ang e o ST 1
B




F

118. Correct pairs of dissimilar sEpp]ementary angles in

119.

120.

(72) ST-2
the following diagram are

B

A<

F\T’D
E
(A) £DFE and ZEFA; ZAFB and Z/BFD
(B) «£DFE and ZAFB; ZEFA and ZBFD

(C) £BFD and ZEFA: ZAFB and ZDFE
(D) ZAFC and ZDFC: ZAFB and ZDFE

A Fe T o & s s St 6w g
C
B
A >D

(A) <DFET ZEFA; ZAFB ¥ /BFD
(B) ZDFEd ZAFB; ZEFA 9 /ZBFD
(C) ZBFD¥ ZEFA; ZAFB 9 £DFE
(D) ZAFCT ZDFC; ZAFBd ZDFE

Two parallel sides of a trapezium are 10 ¢cm and 16 cm respectively. If area of the
trapezium is 78 cm?, then what will be the height of the trapezium ?

(A) 13cm (B) Scm

(C) 6cem (D) 8cm

U HHEE Wi i Q) ST T wEe: 10 T T 16 A 3 | 3R wwete w1 dawe
78 =t &t g1, A 3w Frard A 0

(A) 138 (B) 5@
(C) 6@ (D) 8 &
What will be the circumference of half part of a circle, whose diameter is 56 cm ?
[HSGT'L':%]
(A) 44cm (B) 3__8 cm
(C) 22cm (D) 66 cm )
i
56 HHi =amE ATt fonelt 9 % 3 s ) iy = ERR ?[x=?mﬁﬁml]
(A) 448t (B) 88 &t
(C) 223 (D) 66 &
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121.

122.

123.

124.

(73)

Cristae are found in which
(A) Golgi bodies
(C) Endﬂ?lasmic reticulum

cell organelle ?
(B) Mitochondria

(D) Ch

FN——— 3 ‘-'ITQ‘G‘IT:P['&? loroplast
(A) Ticsremg (B) wrrmiogm
(C)  31=:vig=ft e (D) haeras
:T;ich 1s an insectivorous plant ?

Cuscut, ' i :

_;;%L_;ﬁqm% ?[B] Utricularia  (C) Monotropa (D) Orobanche
(A)  Fpa (B) g (0) uwrRw (D) HAE=h
Which is a red planet in Solar system ?
(A) Mercury (B) Venus
(C) Mars (D) Saturn
HHHUSH | 16T T8 BH |12 ? .
(A) 9 (B) W
(C) HTe (D) =

DOTS is a short form of

" (A). Directly Observed Treatment, Short Course

125.

(B) Directly Observed Treatment Scheme
(C) Distantly Observed Treatment Scheme
(D) Distantly Observed Treatment Schedule

DOTS, fereeh1 oY ey 2 ?
(A) weaE 3@ =R, g (B) e S ITER de

) e dfgasmerasT (D) e St ST N
Which food group is richest in energy in terms of kCal per gram ?
(A) Cereal, Millet and Pulses

B) Vegetables and Fruits .
EC; Milk and Milk products, Egg, Meat and Fishes

4 & Oilseeds
gmogql;zmmﬁﬂm ;ﬁlnﬁmnm,aﬁfﬁ’{ﬂ‘f%?
(A) T, fieie @ g
(B) ufewai T vl L v okl
(C) @@gam,m,mﬁﬂw
(D) et = e T ggd @ faeTE
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126. Which one of the following statement is correct with reference to Luteinizing Hormone |
(LH)?

(A) It stimulates Leydig cells to produce testosterone,
(B) Itis a neurohormone.

(C) Itis secreted by Graafian follicles,
(D) It does not show synergism with FSH,

Wmﬁﬁﬁﬁﬁnﬁéfmmmma?

(A) 3 ifen Hiftrmail 1 2er e 3 R e w2 |
(B) muFdfmamg)

(€) =& 7l go d wfem g 2 |

(D) ¥ FSH % ury geef i ewrfar 2 |

| 127. The strategy of alternation between sex

| (A) Polyembryony (B) Parthenogenesis

; (C) Heterogamy (D) Apomixis
ﬁhﬁ&ﬁmﬁhﬁm%ﬁamﬁwﬁﬁﬁﬂaﬁﬁé

ual and asexual reproduction is known as

(A) =gy (B) PREHwH
f (C) Torewgmm (D) ETE
-j E
! 128. Objectives related to affﬁi‘.‘-,ti\;'t_.‘-_ domain mainly concerned with
+ (A) Knowledge (B) Application
' (C) Valuing : (D) Comprehension
AT T8 § Wi I3 e ®9 @ grafig
(A) TH (B) g
(€) P (D) Wy
129. Which one of the following is not a characteristic of a good test ?
(A) Reliability (B) Planning _
(C) Objectivity (D) Discrimination
fFreforfea & & $11 < frstvan o s whgm 6 78 2 2
(A) Tavaeaar (B) e
(C) wghEam (D) - fersgemifian
130. An example of projected teaching aid is
(A) Bulletin board (B) Overhead projector
(C) Chart (D) Model
wardft Rreror ameht =1 o SqrEw 2
(A) wafeT (B) SRS MAFA
() =i (D) wHise
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131.

132.

133.

134,

135,

Out of the follow; (75)
n s
{A} Lﬂctul-c_c“m‘%:;:mh tEﬂChing Method oi )
(B) Lecture method ONstratiop, Methog EIVes importance to the mental conclusion ?
(C) Problem Sﬂ'f'v’ing —
(D) Laboratory megpynq 0
thod
AR 322 e o
(A) ST seviy Rl T
(C) T EwTa fiyfy EE) ST fafy
) ST fafly
Qut of the fﬂllﬂwing “"hil:h
(A) Scientific laws comes under “Prodyct of Science™ ?
(C) Formulation of hypothesis ) Sctentifi ot
fefRea d @ 9 CIREE oS m{g;} Experimentation
(A) s fay i 3 & 2
(B) amfys gy
C) UReewET a9
( (D) v w5
Out of the following which i - :
oFieaching ¢ g which innovative teaching method covers all domains of objectives
%J ;ﬂafﬂ t:achi_ng (B) Micro teaching
rain storming (D) Programmed instruction
frferfeaa & @ #17  Tamard R fifty 3 R % sl 3 o west w1 emw amE 2
(A) = fargor (B) & e
(C) wfersh 3geH (D) e I
Which type of teaching should be planned after diagnosting the learning difficulties of the
students in science teaching ? "
A) Micro teaching (B) Team teaching
EC; Diagnostic teaching (D) Remedial teaching
fsTrr faregor 3 farenfifal 1 sefepm ATl % g % 3T e s < firem 6 sz
&) et =nfed ?
i
(A) qe R (B TN -
P (D) JIEARIHE
(C) fremTE®
ning the extent to which educational objectives are
A systematic process _nf deten:; g
achieved by the pupils 15 KR (B) Evaluation
(A) Training (D) Experiments
(C) Diagnosis mgﬁ;mﬁﬁ%ﬂmmﬁmaﬁﬁmﬁm%’ e
& #HES st <1t T (B) eI
(A) wiivgor (D) AT
(©) frem

—

sauwn s~ -~
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136. “Defining” Action verb is related with which behavioural objectives ?

(A) Affective (B) Psychomotor

(C) Cognitive (D) Affective and Psychomotor
“ghsite " AT v forg SHERROTd St A wEfRa R 7
(A) WmETETH (B) wHIfshaTeH®

(C) EAETHS (D) WTETHS Td AT

137. Out of the following frame of Linear Programmed Instruction, which of the following
frame is exactly related with teaching-leaming content ?

(A) Teaching frame (B) Introductory frame
| (C) Testing frame (D) Practice frame
Yt siftrwfia SRA % Praffas v & # a1 ug Rt w9 & verd s et favree
AyafAa ?
(A) T ag (B) WIS UG
(C) gtz ug i@ (D) 3™ IR

| 138. An object of mass 0.75 kg is hanging from a string attached to roof. What will be the force
: applied by string on the object ?

(A) 8.45N (B) 7.35N
(C) 6.85N (D) 98N

| 0.75 kg 75991 1 T five ga & arft <1l & wresh gon ® | S8 gro Rive v v ae om0
| (A) 845N (B) 735N
| (C) 685N (D) 9.8 N

139. Which of the following statement is true for an oscillating simple pendulum ?
(A) Potential energy is minimum at maximum displacement position.
(B) Potential energy is maximum at maximum displacement position.
(C) Kinetic energy is minimum at equilibrium position.
(D) Potential energy ‘s maximum at equilibrium position.
T o HA U deh & ol e d asm o s a0
(A) ftreraw for T araeen § fRufors st e R |
(B) ftreem e arareen # ot St arftrram 2
(C) e T H i St < R |
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142.

143.

144,

- l4s,

which of the following ter Wi F
(A) - 8 °F ature jg ot k -
Possible ?
[C] 5 S k (B) -— E nC
(A) —8°F :
{CJ -8k EBD] —-SOC
]' -8 "R
| joule is equivalent tq
42k
(A) Cal (B) 4.2cal ©) ik " !
| < T e A3 A (D) 73 Cal
(A) 4.2kCal (B)
4.2 Cal i 1
©) Fakcal (D) 75 Cal
What should b s .
e the minimum height of a plane mirror to get full image of an object of 2 m

height 7
(A) Im (B) 2m (C) 4m
(D) 05m
gﬁmmﬁmeﬁﬁmﬁm@%mmﬁmmm
?

(A) Im (B) 2m (C) 4m (D) 0.5m

Sound transmission takes place as
(A) Stationary transverse wave (B) Progressive transverse wave

(C) Progressive longitudinal wave (D) Particle form
wf &1 = g 8

(A) FTEd IOATER A w9
(©) agded e o ®IH

a Green-house gas ?

(B) e ST 7 ¥ A
(D) w0 e |

Which of the following is - Ly
Eg; g;t;:iin (D) Nitrous Oxide
ﬁqﬁﬁaﬂﬂmﬂ!ﬂﬂ%ﬂ“:ﬂ}
:2; f.iiﬁ (D) TEE CCEIE]

. itride is "
Chemical formula DMTBH)WE;TI.SZN; © (NHN ©) NH)N:
A
(A) NH,N at- 0 (N

Fehfram ATegTes B I ®) (NH)N: (€) (NHp,N

(A) NH,N _
13yon IV /
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146. Monomers used to prepare artificial fibre Dacrop is
(A) Ethylene glycol and Acrylonitrile
(B) Ethylene glycol and Vinyl Chloride
- (€) Ethylene glycol and Terephthalic Acid
(D) Ethylene glycol and Acetonitri le

O X HH T H o v 2

(A) MWH’E}TW@
(B) el gt e et seise
(C) el ergerier aen Seedtfers amet
(D)  wfrefia remmgenier e YeherTegrser

147. Antacid substance used for the treat

(A) Caustic soda (B) Caustic Potash

(C) Milk of Magnesia (D) Lunar Caustic

ST 1 ST T ITIR F0 3 70 g wha 3

(A) i Gl (B) <HiTeeeh qiew

(C) Tores i Afifdrn (D) IR FieH
148. Coal containing maximum percentage of carbon is

(A) Peat (B) Lignite

(C) Bituminous (D) Anthracite

wiaen foredt sl 6t watfies e §

(A) e (B) fommge

©) fagah (D) TSR

149. Which of the following is an output device ?
(A) Magnetic Ink Character Recognition (MICR)
(B) Optical Character Recognition (OCR)
(C) Optical Mark Reading (OMR)
(D) Visual Display Unit (VDU) :
Fraferfiga 3 @ 9 @1 3Eeqe Iww # 2
(A) HATEH 55 i fEnee (MICR)
(B) 3Aifeeher didet M (OCR)
(C) 3iifRehet H1 {fET (OMR)
- (D) fagae feest gfe (VDU)

150. Who discovered Penicillin ?

(A) Edward Jenner (B) Robert Hooke .
(C) Robert Koch (D) Alexander Fleming
At 1 @ e 6 7

t{?ﬁi A (B) U §H ‘
o Jat (D) TeradSt i

ment of acidity in stomach is
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9l What does ‘we the

India mean ? People of India’ a5

menti :
(A) Sovereignty lieg wi oned in the preamble of the Consitution of
5 _ Y lies with the Chief Justice of [nds
( overeigaty lies with the People of In ; ‘adiy
ia

(C) Soverei i i

0 ey e e i

WA & GfaT <Y weremn 1 sfesfa *mm%ﬁ?ﬂ%mﬁ ?
(A) HEMAT WA % g =mnede 3 fifea @ | "
(B) EFYAT W%Fﬁ‘ﬁﬁﬁaﬂ% |

(D) EEIYAT SArway % ey d Afga |

2. Under which Article of the Constitution of India untouchability was abolished ?
(A) Article 16 (B) Article 17
(C) Article 18 (D) Article 19 |
w%@ﬁmﬁﬁqa@akmﬁﬂmﬁmmwﬁ ?

(A) TG 16 (B IR
(D) IR

(C) 3% 18

n of India the Fundamental Duties are enshrined ?

%. In which part of the Constitutio
(B) Part I

(A) PartV
(C; Part IV A el PER
o %ﬁamﬁqﬁﬁaﬁﬁqﬁﬁa%mw% ?,
(A) WHT-V @y -
g p) WA-VI
(C) wm-1V-A P2

0 e~

JEICRR R R o



F
(80) -

94.  Article 25 of the Constitution of India is related to
(A) Freedom of Conscience and free profession, practice and propagation of religion,
(B) No discrimination would be done on the ground of religion, race, caste, language
any of them.
(C) Right to education.
(D) Minority Institutions.
W | %1 sg=ay 25 grafd
(A)  3Fa:ahTor <t Ty et Rl S e 3 e, amamm ik s Y adEA
(B) v, orer, i, e 41 €8 @ el 3 smere e i S e R e |
(C) e %1 Hftew X
(D) IFeuHETs Hen

b .

95.  Which of the following is not a constitutional provision related to Social justice ?
(A) Reservation for SC and ST in Government jobs.
(B) Reservation for SC and ST in Legislature.
(C) Equal pay for equal work.
(D) Prohibition of Child Labour.
=1 4 2 arnfvres = & Tt sl yaum T £
L.

il
L

P s e o M b

(C) G9H % &g 99

(D) ==t 3| fEy ]
.
96. What is the Quorum required to run the proceedings of the Lok Sabha ?
(A) 1/4™ of total members (B) 2/3" of total members
(C) 1/3" of total members (D) 1710™ of total members

m@m%m%mmmﬁﬂ ?
(A) F GG GG H 1/4 91 WFT (B) et TTw WHALHT 2/3 5 Wy
(C) o1 6qH &A1 1/3 7 97T (D) o1 9C&d 9841 1 1/10 31 Wy

97. Which Article of the Constitution of India provides for a Council of Ministers which shall
aid the President in the exercise of his functions ?
(A) Article 74 (B) Article 78
Arti icle 80
(C) Article 79 (D) : Artic
WRT % HEUH % S ¥ 370e § v whaieg #1 WEuE 2 5t R apefy @ ses w9 F

fefea o GERIT WEw W4T ?
(A) FTT 74 (B) T8

©) FFRR (D) g0
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101,

Who appoints the §

: ta :
(A) Ch:e:f Election E}Electmn
(B) President of India
(C) Governor of the ¢,

g The Legislative As:::nr;fd S;ate
IS AT ) ﬁqﬁ%%me State
(A) ¥Rd ED ey ﬁ'ﬂfﬂ? % ?

(81)

; O e
Missigp Errgﬂmslnner ?
ndig

. s IR B) wy
Galal TR 0 e
Which of the following Statements r,
=

A) The Presi : i
(A) sident of India can Seegardmg the Supreme Court of India is not correct ?

to inter ; k the advi
(B) Itis b?:lp(;if':atrn Ot tis C‘}nﬂtitutierf advice of Supreme Court in the matters related
(C) The Pfﬁidgntﬁg?lgzﬁsnp;ﬁ:ne Court to advise the President
[_D} The Gﬂ'vmmt can make g‘]:mmt the advice gi"fﬁn b:,-' the Suprm—ne Court.

: ne :
the advice of the Supreme Court cessary amendments in the proposed legislation on

WA & HaTS AT ¥ gy 3 B

, U B W R WA AE R 7

(A) Gl i e & et e ame vt wdt e & ot dnasa |
(B) Trgafd gr0 it S W Hat e 3w 3 3q e |

(C) Trgafa wa= e grI e A ot i 7 ag e T 2 |

(D) Het= =ATTer % TN SER S e fai i s wH SoEsd @ |

Electoral College for the election of the President of India consists of

(A) only the elected members of Lok Sabha

(B) all members of Lok Sabha

(C) only the elected members 0
of the States.

(D) only the elected members of
of the States and Union T

W%W%w%wmﬁ

(B) i % @i 7 ot & et Fratta §ee
() wraHEERTH
(D) yira S @86 T

f the Parliament of India and the Legislative Assemblies

the Parliament of India and the Legislative Assemblies
tories of Delhi and Puducherry.

St faifera 96
Longest river of Asia i B) Yangti-si (Yangtze)
(A) ‘Hwang-HO (D) Lena
(C) Mekong At o
frn ot w @) -
(a) -8 (D)
(C) WHM

e i
‘r:."”;w

3

e aiowd = = S5 S



(82) ST
102, Kilimanjam mountain lies in which country
(A) Tanzania (B) Kenya
(C) Uganda (D) Rawandy
Feeferom) v v 2w i IafRm R 7
(A) wfa (B)
©) iz (D) g
103. The average temperature at stratopause is
(A) 43°C (B) -S50°C
(©) 100°c (D) 0°C
BRRLLE LR [, T —. wa g
(A) 43°C (B) -50°c
(©) 100°C (D) o0°C
104. Basalt rock is an example of
(A)  Hypabyssal rock (B)  Extrusive Igneous rock
(C) Plutonic rock (D) Metamorphic rock
A O Ierew 3
(A) S9uTaTeiE 3 (B) = 3miy S
(C) vy s (D) wrafa e
105. The average energy flow from one trophic level to another is
(A) 15% (B) 5%
©) 10% (D) 20%
whm%@immﬁaﬂmm{wmﬁm%
| (A) 15% (B) 5%
©) 10% (D) 20%
106. Whose emissary was Magasthanese ?
(A) Alexander (B) Bindusara
(C) Wilson1 (D) Selucus
o Trorga oy ¢
(A) T (B) fagEr
(©) e (D) WegHw
107. Who was not the Navaratna of Chandragupta 11’s court ?
(A) Vafruchi (B) Varahmihir
(C). Dhanvantri (D) Fahiyan
FH T Refta B o i v are T o 7
(A) @y (B) wrafifi
(C) "Rt (D) &
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k The name of Maharana P ’
08. a Prat .
!_; ; (A) Ram Prasad . EIEFE?I“; =
. . {C} Mﬂl’dﬂl’lﬂ. {D} vhetak
" RTCTOTT ST 26 BTt a1 A1 oy e
(A) THIETG (B) %
() W (D) o ywrE
109. Social reformer anind Guru was born in a
(A) Pandit family (B) Farmer family
(C) Banjara family (D) Jamindar family
Tt GHT T, T 1 T g
(a) R TR (B) foram ufm #
(C) ® aftam # (D) wfer e &

110. Who wrote ‘Chetawani Ra Chungatya’ ?
(A) Pratap Singh Barhath (B) Jorawar Singh Barhath
(C) Rao (?upal Singh (D) Kesani Singh Barhath

et v e e ford 2
(A) TIfE TES (B) aiE ¥REs
(C) ™ i (D) elifie InEs

arship for Veer Vinayak Damodar Sawarkar for his higher education

{11, Who arranged a schol

in London ?
(A) Shyamji Krishna Verma (B) Subhash Chandra Bose

(C) Ras Bihari Bose (D) Mohan Singh
wﬂﬁwaﬁmm%ﬁﬂwﬁm%@wﬁﬁmﬁﬁﬁeﬂ ?

(A) v For i (B) G W

(€) TEfaEdEE (D) wrEAE
112. The capital of the Matsya Janpad was

(A) Champa (B) Virat Nagar

(C) Kushinara (D) Gokulpura

Hee F9E o e ot

(A) == B) faETR

(C) W (D) Mg
113, *Anand Temple’ of Pegan Dynasty is located 1"

(A) Pakistan (B) e

(C) Myanm;r {D] China

S o T i e e R

(A) wfeEH (B8

(C) MR @ W

— 1 e
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(84)

Who won the battle of Tarain (1191 AD)?

(A) Amo Raj Chauhan (B)  Mohammad Ghori
(C) Prithvi Raj Chauhan (D) Govind Raj Chauhan
T H19G (1191 €.) frrd e

(A) it stem (B) Wemye mf

(C) gt <em (D) it <ftem
Which dance form of Rajasthan is included in intangible cultural heritage list of UNESCq
in 2010 2

(A) Geendar (B) Kalbeliya

(C) Bhawai (D) Kachchhi Ghodi _
TSTEIH 1 1 61 391 %y 2010 % ey (UNESCO) i angd wicpfoes “ﬂa@ﬁ“%
Fmnd ¢

(A) fizg (B) wrerafer

(C) ward (D) el Uyt

Who was the husband of Saint Meera Baa; ?

(A) Bhoj Raj (B) Ratan Singh

(C) Narpat Singh (D) Sangram Singh

W g & ufy g M

(A) Wi (B) wmfyg

(C) Tuafyg (D) wumfifg

Painting Schoo] ‘Bani-Thani’ is related to

(A) Satwant Prasad (B) Nagri Das

(C) Mrigawati (D) Shiv-Parvat; *

Weft woft—gofy: Hrafiy 2

(A) Haa= LI (B) mrfrerg

(C) wpmadh (D) Rre-urd

Who was related to Dadrewg village of Churu district 9

(A)  Pabuyji . (B)  Gogaji

(C) Harbhuji (D) Devnarayanji
= e S edmram Ty
(A) Tt (B) Timrsfy
(©) woph

(D) e

8T L
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120.

121.

122.

123,

85)
Who among the follgy;;, . {
(A) Padmini Devy;j & Sacrificed her life in Khejarali Movement ?
(C) Mec:na Devi EE Karma Devi
Qg g i I fia 5 e ﬁ;‘:;‘%[’“'
() el B) i ?
(C) wresh o) E’;
g

Who wmte.‘\*’ande Mataram’ in hook “Anand Math® 7
(A) Bankim Chandra Chattarjee o

(B) Vyomesh Chandra Banerjee
(C) Vipin Chandra Pg]
(D) Ravindra Nath Tagore

TETH 3G HS* H T A, P o 2

(A) Wegwett (B) i e

©) ffregas (D) Tz iR

Which of the following place is not connected by National Highway No. 15 ?
(A) Jaisalmer (B) Barmer

(C) Hanumangarh - (D) Bikaner

FraferRaa § @ +19 w1 vt tear gem- 15 g gE R 7

(A) Hgenr (B) WIgH

(C) TG (D) SRR

Which of the following is the largest man-made soft water lake in Rajasthan ?
(A) Pichhola (B) Jaisamand

(D) Rajsamand
%ﬁ%%ﬁtﬂ%ﬁﬁﬁﬂﬁmﬁﬁasﬂaﬁqm% ?

(A) fsten (B) .
(C) WHdgar S

: were known as
The devotees of Vishnu (8) Pashupatas .

w T
W
v 3 wyerr e &
(B) I
s e
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125.

- 126.

127.

128,

129.

In which one of the following source mentioned e Sixteen Mahajanapadas in Anciey,
India is found ? '
(A) Anguttar Nikaya (B) Divyavadana

(C) ‘ Rigveda (D) Suttapitak

Frifera 3 @ forg e & wrefin YT  HIeT8 WEroYel %7 3cora 2 7
(A) I Frer (B) fe=umaem \
(C) =g (D) Yufres

The old name of the river Ravi was

(A) Suvasty (B) Kubha

(C) Parushni (D) Dwashdwati

et €t 1 v T o

(A) Fawg (B) w1

(C) et (D) gt

The capital of Shoorsen Janapada was

(A) Mathura (B) Vrindavan

(C) Indraprastha (D) Kurukshetra

YA S Y T ot

(A) =HYT (B) dg=rE=H

(C) F=o (D) Foaa

State *Rajasthan’ finally formed on :

(A) November 01, 1956 (B) May 15, 1949

(C) March 25, 1948 (D) January 26, 1950

TSY TR’ 3797 fequl w9 3 3 fafs ) wmt 3

(A) =R 01, 1956 (B) W% 15, 1949

(C) = 25, 1948 (D) "= 26, 1950

Social Studies is taught at

(A) Secondary level (B) Senior Secondary level
(C) Graduation level (D) All of the above
gt e & o e wrar g

(A) TS &R (B) I WIS & W
(C) Tas & (D) IR Wt

Taxonomy of objectives in education is given by

(A) John Dewey (B) Smith

(C) B.S. Bloom (D) LK. Davis
favem & Sewdl 1 afentor oy e
(A) 9 gr (B) famgm

(C) #1.78. SHEN (D) 3. &. g



3 I.;far
L

132.

134,

P 133,

of curriculum inclygeg (87)

Internal activiti
:g; Sothof the;l 1es of a schog) B Bk e
Wﬁ‘ﬂm & 87 1 i “8 (D) None ;f mlttes of a school
fraerd Y 3t
E 390 S ™ (B) Torerera 4w o
: (D) 3% § & s 7
- gocial Studies text book should be :
(A) the Author according to

[C} the Teacher (B) the Student
(D) the Government

wFms L
© % (D) &R

gocial Studies teacher is tellin
th : o
using the technique of £ the sequential process of election in classroom. She is

(A) EJ_LpIana_tion (B) Nan‘atiun.

(C) Discussion (D) Questioning

TR STEAE Y STEATRyeh S § T it s wiha wa @ # | 9w R s & s
@R, TWR

(A) wETE (B) 4

(© st (D) ¥E

Social Studies teacher should give emphasis on

(A) giving information related to subject.
(B) developing thinking power of students towards social issues.

(C) preparing students for exams.

(D) language development of students.

AT 3T S e H 4 &

(A) fawaad aifera gaT a1 T

(B) ﬁuﬁ?ﬁaﬂwﬁﬁgﬁﬂwﬁﬁm:ﬁsﬂ:ﬁmm
(©) frenffal = whE F fora, T A T

(D) fenfefat o T fyFE W
Visiting historical places is useful in Social Studies teaching for

(A) creating interest in subject.
(B) providing first hand information.

(C) better understanding of content.

(D) All of the %'ﬁmmﬁﬂ oo ST &
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137.
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(88) : 5T.
Bloom's lesson plan is based on
(A) Objectives (B) Content
(C) Presentation (D) All of the above
SURIRICRIE S BT
(A) Jewdim (B) Torwarag oy
(C) Wl g1 (D) 390 wft

The project is that purposeful work which is done with complete devotion in the sociy
atmosphere. This statement is that of

(A) Bloom (B) Crow and Crow

(C) John Dewey (D) Kilpatrick
mmmﬁw@mﬁ%ﬁm%mmﬁﬁ;mﬁﬁmmilﬂm%
(A) =H = (B) I uve #i @

(C) =17 et =5y (D) e &

In Social Studies which of the following test provides an opportunity to evaluate student’s
independent thinking ?

(A)  Objective type test (B) Essay type test

(C) Short answer type test (D) Very short answer type test
mﬁmmﬁﬁwﬁﬁmmmm%mﬁm%mwmmm% ?
(A)  =xqfe v &t vha (B) Fravrers war & gften

(C)  =1g-Ferer whn S wlisn (D) - TeLerreT Wb Y ey

Which of the following i$ a *Rabi’ Crop ?

(A) Jute (B) Groundnut
(C) Mustard (D) Water-melon
ﬁﬁ%ﬁﬂﬁﬁﬂqﬁ‘m‘ﬁﬂﬁ%?

(A) ¢ (B) et

(C) aH (D)

Sadia to Dhubri stretch of Brahmaputra river is connected by which of the following
Inland National waterways ?

(A) National Waterways No. | (B) National Waterways No. 2
(C) National Waterways No. 3 (D) National Waterways No. 4

Fr=ferfian @ fm stiaftes wit wemm & S w6 T ey & ‘qall =i e 7
(A) trg‘iumtquw—l (B) uﬁnmﬁm—z

What was the male literacy rate in India as per 2011 Census ?

(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%
zmlaﬁrmﬁ;mmﬁgwmmmmm?
(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%

.

1 . ?

S8T-2
141.

142,

143,

I“l
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|
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142.

143.

144,

145,

. (89)
The winter rainfal] ; G e
(A) Arabian s:a " India is the resuly of cyclones, which originates from
(C) Red Sea (B) Bay of Bengal
(D) Mediterranean Se:
m‘(ﬂﬁ?ﬁﬂiﬁﬁﬁ:{aﬁwﬂ erranecan Sea
IH B T
=1 gy 8 7
(A) AT HTR . :
(B) wma H
(C) e &R o ar

The area in Indo-Gangetic
(A) Tarai Region
(C) Bangar Region

plain where internal channels re-emerges is locally known as
~ (B) Bhabar Region

o (D} Cho
Forg 71 =5 e &, Te1 & st e . s i 2, v & e ot 2
&) B) s
(C) R W D) =
Which of the following €nergy resources is credited to trigger modern industrialization ?
(A) Hydel Power (B) Atomic Energy
(C) Coal (D) Non-conventional energy
Fygfeh i 3 gaure w1 i Prafafa § & frg st dam s 2
(A) = faem (B) 3mvifyes il
(C) wre (D) -wrETTE S

Which of the following State of India has banned chemical fertilizer for sustainable

agriculture ?
(A) Sikkim (B) Arunachal Pradesh

(C) Andhra Pradesh (D) Goa

P (drebrefi W) i g Pttt o & s % e a3 e d % Swam
siffigs Rt ?

(A) fufesw (B) VTS Sl

(C) 3y W (D) a3t

Which of the fi |lowing Iron and Steel Plant was established with the technical
ich of the to ;

: s T
collaboration of Britain :

(A) Bokaro Steel Plant (B) Durgapur Steel Plant
(A}

Steel Plant (D) Vijaynagar Steel Plant
m{m Rm:;mam-sm#ﬁﬂmﬁ%ﬁmmagm
(A) wrer) geuTa €9 (B) Eﬂfﬂtsﬂrﬂm
(C) Tracden T 63 (D) e SeaTa w4




146,

147,
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149.

150.

_ (90) 51y
Which of the following river is notorious for ‘Badland’ ?

(A) Chambal (B) Krishna

(C) Godavari (D) Tungabhadra
ﬁw%rftmﬁﬂaﬂnﬂqa*mmmﬁ' (Badland) % fma seama & 7
(A) SEs (B) =

(©) Terd (D) g™z

The habitat of *Yakyt® tribe is

(A) Neéw Zealand (B) Congo Basin

() Amazon Basin (D)} North Siberia

TR A 1 ST (e T

(A) =goiele (B) i aft

(C) M IRm (D) It wrgafan

Ghagghar Plain is situated in

(A) Gangdnagar and Hanumangarh Districts
(B)  Jhunjhunu and Sikar Districts

(C) Jalore and Sirohi Districts

(D) Jaisalmer-and Barmer Districts

W T B raflmE 2

(A) TR 3 g el 8 (B)  gjee aen dha el
(C) wrer ae fRé forat (D) StHeR a1 aTeiR frelt 3

The first textile mill of Rajasthan was established at

(A) Ganganagar (B) Bhilwara
(C) Udaipur (D) Beawar
TSTET 1 WoW 96 TP TTfia g3t o

(A) TR (B) ierarst
(€) IR ) W

As per 2011 Census, which of the following district of Rajasthan recorded Jowest decaddl
population growth rate ?

(A) Ganganagar (B) Bundi

(C) Baran (D) Sikar qﬁ "
2011 s FIVET % FER, ﬁﬂhﬁhﬂﬁ%mﬁ%ﬁmﬁﬁaﬁmm

;quqﬁ ?

(A) TR (B) @

() (D) H#
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